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During the recent ETSI MTS meeting in March, it was recognized that the ITU publication process for TTCN-3 could be improved. Usually, when an approved ETSI TTCN-3 version is being edited by ITU-T, there exists already a more recent version at ETSI. Due to the approval process, the ITU version usually lags 1-2 years behind the ETSI version. Therefore it frequently happens that TSB detects bugs in the specification, which already have been detected and fixed in the more recent version. 
Another issue is that the ITU-T publication of TTCN-3 at the moment lacks acknowledging ETSI's copyrights (see minutes of the MTS meeting http://docbox.etsi.org/MTS/MTS/05-CONTRIBUTIONS/2010/MTS(10)0022_MTS_50_draft_Meeting_Report.doc). 
ETSI would prefer if ITU would just endorse the ETSI documents as they are once they are ready, which also means that ETSI is referenced in the ITU recommendations. It should be checked during the upcoming SG17 meeting whether there is a procedure and an MoU for such kind of endorsement according to the term defined in the ETSI/ITU-T MoU (i.e. with proper copyright reference). 

Another issue is ISO. There are obviously some institutions (such as CEN) which prefer reference to ISO documents and for that reason there is still a lot of reference to TTCN-2 which was the last ISO version of TTCN, but outdated now for more than 10 years. It should be checked whether there is an easy way to get TTCN-3, i.e. Z.16x, endorsed by ISO. How is this been done in the ASN.1 case, which may be similar?
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